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Homework: Word Problems




Mr. Lynch

Show all work for each of the following:

1) The length of the 2nd side of a triangle is 3 more than the 1st side.  The length of the 3rd side of the triangle is 6 less than twice the first side.  The perimeter of the triangle is 49 meters.  Find the longest side of the triangle.

2) The width of a rectangle is 3 less than twice the length.  The perimeter is 96 feet.  Find the width of the rectangle.

3) A rectangle has a length of 8 centimeters more than its width.  The area of the rectangle is 48cm2.  Find the dimensions of the rectangle.

4) A rectangle has a length of 6 meters more than the width.  The area of the rectangle is 32m2.  Find the length of the rectangle. 
